	2016 STATE NURSERY LANDSCAPE PROBLEM SOLVING TEST

	Student Name:________________________________________________    Score:__________________

	Chapter:_____________________________________________   Contestant Number:_______________

	[bookmark: _GoBack]Directions: Read each question carefully and choose the best possible answer.  Record your answer choices on the provided Scantron sheets, by correctly bubbling in your answer.  Round all answers to 2 decimal places.  Each correct answer is worth 10 points.

	_____ 1.
	If no more than one half the total leaf surface should be removed and the recommended mowing height is 2 inches, the lawn should be mowed before the grass height reaches:

	
	a. 2 inches

	
	b. 4 inches

	
	c. 6 inches

	
	d. 8 inches

	_____ 2.
	A nursery owner has a field 450 feet long and 375 feet wide.  How many acres are in this field?

	
	a. 3.87

	
	b. 4.75

	
	c. 8.43

	
	d. 16.87

	_____ 3.
	The general rule for pruning roots is 10” of circle diameter for each 1” of plant diameter.  What diameter circle should be made for pruning the roots of a tree that has stem diameter of 3.5 inches?

	
	a. 3.5 inches

	
	b. 10 inches

	
	c. 35 inches

	
	d. 48 inches

	_____ 4.
	A nurseryman recently received damage to some plants from a storm.  Expenses associated with their production are as follows: Labor Costs - $5427; Utility Costs - $2898; Material and supplies - $12,765.
An inventory after the storm showed that only 3,788 plants could be salvaged and sold.  What is the breakeven price per plant to cover the expenses listed above?

	
	a. $3.78

	
	b. $5.43

	
	c. $5.57

	
	d. $12.76

	_____ 5.
	If five gallons of water is mixed with 3.75 ounces of liquid fungicide to make a 2% solution, how many ounces of fungicide would be needed to make a 3% solution?

	
	a. 1.875

	
	b. 4.250

	
	c. 4.500

	
	d. 5.625

	_____ 6.
	The recommended rate of nitrogen fertilizer for Centipedegrass lawn is ½ pound per 1000 square feet.  The 300 ft X 450 ft lot has a 2200 square feet home and 1300 square feet driveway.  How many pounds of nitrogen are needed?

	
	a. 32

	
	b. 66

	
	c. 132

	
	d. 135

	_____ 7.
	Properly sharpened and balanced mower blades will reduce fuel use by 22%.  The engine on a mower with dull blades uses 1 gallon of fuel per hour, and the gasoline costs $2.39 per gallon.  How much will be saved this year if the blades are sharpened and lawn is mowed 1 time per week for 30 weeks and it takes 4 hours to mow the lawn?

	
	a. $15.77

	
	b. $63.10

	
	c. $223.70

	
	d. $286.80

	_____ 8.
	A garden center manager is having a 25% off sale on all bedding plant six packs priced at $2.89 each. What would the total costs be, including NC Sales Tax of 7.5%, if a customer bought 15 packs?

	
	a. $32.51

	
	b. $34.95

	
	c. $43.35

	
	d. $46.60

	_____ 9.
	If one ounce of seeds has 14,000 seeds and a germination rate of 92%, what is the minimum package size needed to be purchased to produce 27,000 plants?

	
	a. 2 ounces

	
	b. 3 ounces

	
	c. 4 ounces

	
	d. 5 ounces

	____ 10.
	How many cubic yards of mulch should be purchased to cover an area 225 feet long and 8.5 feet wide with 4 inches of mulch?

	
	a. 24

	
	b. 29

	
	c. 70

	
	d. 631
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